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2A: NEMHFD
HM: NS2A(NELSR/UELE - 2RSDIE
eel NSy (Sl &9)
2A -3 A2(ZH) - MRAR - BES 01 AtoH J| & oH HIw=2t
OZAL=NSIIE HAHOIL2IK XA
A 2,180,000 2,180 2,580 2400
=2 1,090 1,290 2200
Al 1,090 1,290 A200
AE 2oy g2 36,000 40,000 24,000
201 YBt2YY| 36,000 40,000 24,000
01 AF2ZH2HI 36,000 40,000 24,000
OfiQ=2Nt 24 222(0ArE2)
A7 36,000,000 36,000 40,000 24,000
LAY 22| 11,598,514 10,898,514 700,000
2 483,300 483,300 0
= 52,503 52,503 0
[=4 329,868 329,868 0
Al 10,732,843 10,032,843 700,000
220 2912 5,508,604 5,108,604 400,000
307 DIZHOIA 5,508,604 5,108,604 400,000
09 24AABXSZ 5,508,604 5,108,604 400,000
O22AT SHBE2(BXE HH) 5,508,604 5,108,604 400,000
-3t A7 4,166,386,0002 4,166,336 3,766,386 400,000
glg=2l Ls2e] 4,550,000 4,250,000 300,000
307 RIZH0| 4,550,000 4,250,000 300,000
09 24AHBXZ 4,550,000 4,250,000 300,000
OsHEHA Hl2oL s HEEX
A3 4,300,000,0002 4,300,000 4,000,000 300,000
MY 2AHAH|(MSSHE D) (IIEHIIE 126,211 143,596 A17,385
ol 42,625 41,4838 1,137
olat29y| 42,625 41,4838 1,137
101 Q14| 42,625 41,488 1,137
03 SIIHA22 KBS 42,625 41,488 1,137
OSY =AI o AREX 42,625 41,488 1,137
—Al2te| 224t
AX 14,1502 * 150% * 18 * 15A12F = 122 3,821 3,709 112
==
AR 2,308,0102 * 25% * 19 * 23| 1,165 140 1,025
=24 83,586 102,108 A18,522
Jl=2ZH| 83,586 102,108 A18,522
202 04| 55,998 74,520 A18,522
01 2LH0I| 55,998 74,520 18,522
OREMF Y ARFEXIOH 55,998 74,520 A18,522
—ZHHOIHI (Ol AR 2E) AE 47,460,000 47,460 51,840 24,380
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©lr D123 CERE)
SA - 3 - R(SH) - MRAY - BAS Oif &K I BN HwES2
— 22U (ZI R A AL2Y)
Z2& 8,537,600& 8,538 22,680 214,142
Hegs(nsddu) (nsLEF/UENS - S FSIIEY 5,505,179 5,500,000 5,179
ISRSPNES 5,179 0 5,179
SEXNE 5,179 0 5,179
802 gret= DIt 5,179 0 5,179
01 FNEXZREZ 2,578 0 2,578
020208 &= 2,578 0 2,578
—XZ0I2BDEX FRXH EXAY
2,400,000& = 14! 2,400 0 2,400
—XZ20/2ZDER TR SERA(0IRH)
13,9303 » 14 14 0 14
—Sgusst 7 N2 148, 11424 * 14 149 0 149
—Sg2nsSaH 72 NE(0IA)
14,8303 * 14l 15 0 15
02 Al - SHIEXZBHEZE 2,601 0 2,601
020208 & 1,809 0 1,809
—XZ0IEBZDEX FEXH EXAY
720,000 * 14 720 0 720
—X=Z0I2BDEX ZAXH BXAY
4,1808 * 14 5 5
—SHDEAC 7 Y 44,4302 « 14 45 0 45
—Sg2usaH 72 XE(0IA)
4,440 14 5 0 5
—DEUTIGHH A AT Z S RI AL
200,000& = 14! 200 0 200
—EAl BFFEI| LN
464,310 * 14 465 0 465
—HAHA SF=FI| 2N
218,400& * 14 219 0 219
—TNHA OHEAAMI|IZXX] WHAEXIXIH
149,040& = 14 150 0 150
020188 &= 658 0 658
—ESAI2HEEE 2e|AAE 651,720& * 14! 652 0 652
—EHAI2}PE ZA2|AIAEI(OIX)
5,2808 * 14 6 6
OR01749 < 134 134
—EHAI2HPE H2JAAE 127,510& * 14 128 128
—EHAI2EH S 2A2|AIAE(O0IX)
5,500 14! 6 0 6






